ଅନୁମୋଦନ ନିମିଭ ଚିଠା 🏃 yer. R. Depth 2°841 3296 21 0 9.12-10 Aud-1-28-2010 The District Information and Public Relation officer, Whenkarnal. କ୍ରମିକ ସଂ. Sub: Submission of Compliance Report J/ to the Outstanding paragraphs of the A.G.I.R. No: 378/2010. 2011 on the account of the 0/0 the District goformation and Public Relation of ficer, Ohenkanal for the year peneod form. 1/2003 to 3/2010 In inviting an efenence to the A-G. (C.A) Memo Ho. OA -3 1RNO-378/ 2010-2011/311 Dated-29.11.2010 on the subject lited above, 9 am directed to say that compliance reportor the audut objection paires in the g.R. may be furnished to A.G. (Audit) Onersa under intronation to this department. Compliances in this regard should reach in tother days time from the date of small of this letter o

ଅନୁସୁତୀ B--ପାରମ ସଂ. 21

most lengent Your's faithfully, Men 1032907 DI 5.12.10 central

The formal of Dy. Done for Mandher His for Oxformation and receiving actions He es requestrad to fake commodate states to expedite submission of compliance Menio no 32908. Dt 9.12-10

Copy formand-2 copy forwarded to A. G (And. +) (0) Bhuhaurun for information and surrengaction, A F. A com u.

	,	رو
BY F	ORISSA:: BHUBANESWAR.	
	5A-3 18 No. 378/2010-11/3/0 Date: 29-11. 2010	)
То	The District Information  Public Relations Officer  Ohenkanal	
Sir,		
accou perio be fui Kindl	am to forward herewith the Inspection Report No. 37.8 2010-11 on the nts of 1513 CT 2000 And 1511 A Public Report no. 1614 And 16	land
SI. N		
01. 02. 03. 04.	Fara NO.	
05.		
06.		
	Yours faithfully, Solution of the state of t	
BY F	ESISTERED POST LE L'ALLE DEC 2010	
Mem P.W.	No. 04-3 1R No. 378 2010-11 31 Date: 29.11.2010  Gopy together with a copy of the IR forwarded to the Director Information  Lice Relations Department Oxissa Phubanesway	O.
101 111	ormation and necessary action. Special attention is invited to the irregularities pointed in paragraphsfor necessary action. The compliance for the above IR when received may please	
be fo	warded to this Office along with his comments thereon.	
BY F	Sr. Audit Officer	
Mem	No. Date:	
	Copy together with a copy of the IR forwarded to the	
for in	ormation and necessary action. Special attention is invited to the irregularities pointed out in paragraphs	
	for necessary action. His comments to para of the IRs may please be communicated	
TO IDI	office at an early date.	

Sr. Audit Officer

The representative of the metional animary intended.

# OFFICE OF THE PR. ACCOUNTANT GENERAL (CIVIL AUDIT) ORISSA: : BHUBANESWAR INSPECTION REPORT No. 378 / 2010-11

1. Name of the accounts audited.

Cash and contingencies on the

accounts of DF & PRO, Dhenkanal.

2. Period of accounts audited.

1/03 to 3/10

3. Time taken for audit.

25.06.2010 to 30.06.2010

4. Name and Designation of the Next Higher Authority.

Director, I & PR Department (O),

Bhubaneswar

5. Name and designation of the officer's in-charge of the Accounts.

Govinda Ch. Roul, DF & PRO From 08.07.2002 to 21.04.2010

6. Name of the officers who conducted audit.

C. Bagh, AAO

R. K. Mishra, Sr. Ar

7. Name of the Reviewing officer.

Non-review.

8. Scope of audit.

A Test Check and general examination of accounts records pertaining to the period covered

under audit.

### PART = I

1- A. Introductory: --NIL-

(16)

### B. Outstanding Paras of previous Inspection Reports.

<u>IR No / Year</u> <u>Para No.</u> 284/02-03 2,5

C. Schedule of persistent irregularities - - NIL-

PART-II-A
-NILPART-II-B

#### 2- Cash Book and Management of Cash.

The DI & PRO, Dhenkanal maintained two Cash Books, which were closed with Rs.3,512.91 and Rs.3,234.11 as on 31.03.2009 and 31.03.2010 respectively. The Cash Book wise closing balance and mode of keeping of closing balance were given below.

Name of Cash	CB as on 31.03.09	CB as on 31.03.10	Mode of keeping of
Book			CB as on
			31.03.2010
General Cash Book	3,162.91	2,884.11	i)- Paid Voucher
			2,860.00
		, .	ii)- Cash 24.11
		1	2,884.11
Permanent Advance	350.00	350.00	Cash in Hand
Cash Book		1	350.00
	3,512.91	3,234.11	3,234.11



On general review of the Cash Books, the following observations were made.

## a)- Paid vouchers of Rs.2,860.00.

As per GOFD No- 9482 (265) F/dt.06.03.2000 read with Rule- 11 of OGFR, incurring of expenditure out of available cash with out specific allotment and retaining the same in shape of paid vouchers is strictly prohibited. Contrary to the provision an amount of Rs.28,860.00 was incurred from available cash and kept in shape of paid vouchers. The paid vouchers were not produced to audit due to which the purpose, date from which the paid vouchers were lying un-adjusted were not as curtained in audit.

In reply, the DI & PRO stated that the paid vouchers were not available to produce before audit. However, steps may be taken to recoup the paid vouchers of Rs.2,860.00 under intimation to audit. The paid vouchers may be shown to next audit for check.

# b)- Non- accountal of money, received towards sale proceeds, in the Cash Book for Rs.26,280.00.

Money received towards revenue, from any source should be entered in the Cash Book and credited to the proper head of Govt. account as required under rules of OTC VOI- I. But it was noticed that an amount of Rs.26,280.00 realised towards sale proceeds of monthly magazine like. Utkal Prasang, Orissa Review Jagannath Janan and the Special issue of Orissa reference annual was not accounted for in the Cash Book, though the same amount had been credited to Govt. Account No.1 0058 stationary & printing. Due to non- accountal of amount into the Cash Book, the risk of misutilisation, misappropriation of Govt. money could not be ruled out.

In reply, the DI & PRO, Dhenkanal stated that henceforth the sale proceeds would be extend in the Cash Book.

Steps may be taken to account the amount received towards sale proceeds in the Cash Book under intimation to audit.

# 3- Irregular expenditure of Rs/82,500/- under awareness programme in naxal affected area.

Govt. of Orissa, I & PR Department in his Letter No- 2632 dt.20.01.2009 alloted an amount of Rs.2,00,000/- to DI & PRO, Dhenkanal to implement the awareness programme in Naxal affected area. According to guidelines an organizing committee will be formed under the chairmanship of collector and the DI & PRO will be convener- cum- secretary of the organizing committee for execution of various programmes as given below with estimated amount (approximately) approved by Collector, against each programme.

SL NO	Name of the programme	Amount (Rs.)
1	Song and drama	30,000
2 .	Street play	20,000
3	Exhibition	60,000
4	Printing of potser, leaflets Book lets.	50,000
5	Tribal cultural programme	20,000
6	Sports activities & Health Camp	20,000
<del></del>	Total	2,00,000

The awareness programme was held from 17.02.2009 to 26.02.2009 in Kankadahad block (Naxal Affected area).

Scrutiny of programme files revealed that 5,000 booklet were printed, for distribution to public by incurring an amount of Rs.40,500/- towards printing charges @ Rs.8.10P. per copy. But the stock entry of the booklet were not mode in the stock register, in absence of which the genuiness of the printing of booklet and the



numbers of booklets actually printed could not be verified. In the absence of the stock entries the expenditure appeared to be doubtful.

Further it was noticed that under this awareness programme, 21 Ghodanacha (Horsedance) programmes were performed and for the purpose Rs.42,000/was paid @Rs.2,000/- per programme, to the director micromedia awareness. But the details like, the name of performers, the acknowledgement of amount received by the performers were not furnished, due to which the performance of programme as well as the payment made to the performers of Ghodanacha appended to be doubtful.

Thus in total, the amount of Rs.82,500/- incurred towards printing of booklets and performance of Ghodanacha' (40500 + 42,000) might prove doubtful.

In reply, it was stated by the DI & PRO Dhenkanal that the booklets were distributed by G. P Sarapanch & BDO, Kankadahad and the programme was organized by the BDO.

The reply, was not acceptable since it contravened the guidelines of the awareness programme. Regarding Ghodanacha programme it was stated by DI & PRO that the money Receipts would be obtained from performer of Ghodanacha and sent to A.G (Audit).

4- Loss of Govt. Revenue due to non-sale of monthly magazine and special issue worth Rs.5,605/-.

5-

commerce and Culture of Orissa, the Govt. of Orissa. I & PR Department published the monthly magazines like Utkal Prasang, Orissa Review and special issue of Jagannath Janana and Orissa Reference Annual, and supplied to the Dy. Directors of I & PR and DI & PROs for sale to the public at the prescribed rate as detaile below.

(13)

Utkal Prasang & Orissa Review @Rs.5/- per copy and Orissa reference Annual @Rs.100/- per copy.

The sale proceeds were to be deposited into the proper head of Govt. account.

Check of the stock registers of magazines and information made available to audit revealed that 5521 books were received from I & PR Department during the period from 1/03 to 3/10. Out of which 4513 nos of copies were sold out, 552 copies were returned to I & PR Department and the balance 456 copies were lying in the stock which could not be sold out as on the date of audit (3/10). Due to non- sale of books, the Govt. sustained a loss of Rs.5,605/- (the cost of 456 nos of books) as detailed in the ANNEXURE-A.

On this being pointed out in audit the DI & PRO stated that the books were not supplied by the I & PR Department regularly in the month of issue due to which the selling periods of books lapsed and were not sold.

## PART-III

A Test Audit Note containing minor and procedural irregularities for the period from 01/03 to 03/10 was handed over on the spot, compliance to which may be furnished to next audit.

Sr. Audit Officer

PROFORMA

<b>→</b> ' ' '				•				•				
Monk of 988me	Stale of receipt.	Received from 9 RPR replication	UP ROR total copy received	Copy distributed as Cimplinates	UPROR total copy Seld out.	Rali per Copy	Balance Copy	Copies refurned to JEPR deptions			Copy,	Remarks.
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(3)	(9)	(10)	(n)	(12)	(13)
Defai	lee	seccived form	5111	rit.	4139	5/-	972	552	344	76.	NEL:	old lopins Easten By
end	osed renith	9 LPR dept. Onssa				1 mm/	\$35	-	.35		35	white ands.
6 R A			110		75	100/	1	_	1	- Puis	A foreigns in Relation	- Sefre
יבר			300		4513	5/-		552		-	Obenkar 456,	x.i
								ADOX		Lan	2	400 to 10
•								1 , x (	UD = 3.	5	nist fine	motion & motion & oricer
					Med 8	00000			M. 5	005		

<u> </u>	_(2)	(3)_	(1) (6)	(5)	(6)	(7)	(8)	(9)	(10)
UP- Jan:03		IRPR.		•	20 39	5/- 5/-	100/_	65/15.04.04	159
UP-feb/Mar.	27.06.03		50		40	5/-	200/-	64/ 15.4.04	10
OR. Feb/mar	27.6.03		25		(2)	5/-	10/_	65/ 15.4.04	23
UP- April-03	27.06.03		100	1	30	5/-	150/.	64/15.4.04	70
OR-Aport-03			25	:	2,	5/-	10/_	65/ 15,4,04,	23
UP May-Jun.	27.6 .03		100			5/-			100
OR- May Jun	27.6:03		25			5/-			25
UP- July 03	<u> </u>		150		112.	키-	560/.	64/ 15.4.04	38
OR-July-03			50		16	키- 키-	80/-	65/ 15.4.04.	28
UP-Sept/oc	14.x.03		100		60	5/-	300/_	65/ 15.4.04.	40
1 09			225		377	•			
							Bal - 298	Dist Informations Public Relations Obsentians	<b>GITTER</b>

(1)	(2)	(3)	(4) (for	(5)	(6)	(7)	(8)	(9)	(10) 1/2
OP-Jan. 04	25/2/04	1 2 9 R.	50	•	50'	5/_	250/.	57 / 23.3.05	_
UP-April-04	25/5/04		100		49 16	5/- 51-	245/-	57 / 23.3.05 27/22.03.05	35
UP-May-104	आढी०५		50		31 19	5/-	155/_ 95/_	57/ 23.3.05 27/ 22.3.06.	
June - 04 Up.	21/6/04 26/7/04		100		182	- 5/- - 5/- - 5/-	910/- 125/- 205/-	57 / 23.3.05 2 / 04.6.05 27 / 22.3.06.	2
OR-June-py	2/6/04		. 15		10 5	5/-	50/- 25/-	57/ 23,3.05 27/ 22,3.06.	
UP_July 204	219104		.50		5. ————————————————————————————————————	5/-	175/- - 46/-	2 / 4,6,05 57/23,3,05 27/22-3.06.	2
UP-Aug-loy	2/1/04		50		33	5/-	- 165/- - 25/- - 6.0/-	57/23.3.05 2/4.6.05 27/22.3.06,	
UP. Sept. 04	1/11/04		50		50	5/-	250/.	57/ 23.3.05	
UP-Oct-oy	111109		100		100	5/-	500/	57/23.3.05	
OR-004.64	11104		50		37 ·	5/-	185/- 30/-	57 / 23.3.05 27 / 22.3.06.	7
•			267		3/6	, ,		Quedevibile	46
				*	*		Day E wy	Piet Information & Pries Information & Obsukana	4.

(g) (t)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10) 1/3
UP Jan-100	9/2/05	IEPR.	100	/	720	-5/- -5/- -5/-		15 / 17.11.06 27 22.3.06 57 23.3.06.	7
UP-feb/mar.	29/4/05		50		50	7-	250/-	27/ 22.3.06	
HP. April	श्रीपीक्ष	<b>4</b>	50		50	5/-	250/-	27/22.3.06,	
OR-April-05	29/4/05		50		50	5/-	250/-	27/ 22.3.06.	
UP-May-05	2/6/04		100		[00	7/-	2001-	27/ 22/3/06	
DR-May-05	26 045	-	50	-	50	5/-	250/-	27/ 22/3/06.	
July UP-	7/7/05		200		200	7/-	1000/.	27/22/3/06.	
UP- sept/oct/o	20/2/05	-	100		72	5/- 5/-	360/-	27/ 22/3/06. 15/17-11-06.	)
			700		195		Bolis	Dist Information Public Relations Wif	3

( <b>†</b> )	(2)	(3)	(1)		(6)	(7)	(8)	(q)	•	
		(3)	(4)	5)					· .	(10)
UP- Fels/mariob	2/5/06	18PR.	100	•	96	7-	480/-	15/ 17-11-06.	٠	4
UP-April-d	2/5/06		150		137	7/-	685/.	15/ 17.11.06.		13
OR-Mayor	29/7/06		50		40	7-	200/-	15/ 17-11-06.		10
UR-may-06	29/ मेज		50		50	5/-	250	15/ 17-11-06.		
UP-June-oc	29/7/06	**	50 200		50 200	7/- 5/-	250/r	15/17-11.06.		
OR-July-ob	4/9/06		50		38/-	5/-	190/-	15/17-11-06.		12_
UP-July'06	पीयी०६		100		100	5/-	500/-	15 /17-11-06.		
	4/9/06		100		(00	5/-	500/,	15 /17-11-06.		
UP-Sept/act.			100					1.	or 6.10	160
O.R. Seploct of	भ्या ॥ ०६		50						7	, 20
UP-Dec-ob	28/3/07		100			, '		+ublic Re	enkans	° [00
0 R-Dec-06	25 3/07		50.	0	811	:	Bol	339	enter 178 ' ·	<del>20</del> (3

	d	· • }					(	(-2	(10) 15
(1)_(	_(2)	(3)_	(4).	(5)	(6)	(7)	(8)	(9)	(10)
Jan. 07	28/3/07	2PR	100	(9)	7!	- 51-	-355/ <del></del>	-23-/-24.6.08	
up.			1		18	- 5/-	90/-	to / 26.7.08	
0 R - Jan-07	28/3/07		50	:	15	- 5/-	75/-	23/24.6.08	33
			·		2	-5/-	10/-	10 / 26.7.08	
UP-Feb/Mar	28/3/07		100		105/-	5/-	525/-	23/24.6.08	23
′07′	8/5/07		50		22	7-	110/-	10 / 26.7.08.	•
OR, Feb Mar	28/3/07		50		19	51 - 51 -	95/- 25/-	23/24.6.08	25.
'07	23/7/01	هاي 			5. — 1. —	51-	5/-	7/7,7,09,	
UP-April-07	8/5/07	· · · · · ·	100		100	5/-	500/-	23/24.6.08.	-
	. 1		, "		* 4 × 7	,			
UP-May-07	19/6/07		100		76	5/	380/-	23/24.6.08	
	18 9 07		19		72 2-	+ 5/	5/-	7/7,7,09	
June-July	16/7/07-		150		200	5/-	1000/-	23/24.6.08	_
707	18/9/07		50						
UP Aug-07	18/9/07		50		49	5/-	245/-	23/24.6.08.	1
,									
UP-Nov-07	16/1/08		.50		9.	5/-	45/-	23 / 24.6108	2
					39.	5/-	195/-	10/26.7-08.	
			20		9001				95
			899		26.0			The Information	
							801: 25	Dist Information	on F
					<b>.</b>		<b>8</b> 00	Public Relations	
	1		<u> </u>		ر خو د			$S(1) = S(1) \otimes S(1) \otimes S(1)$	-,1

(1)	(2)	(3)	(4)	(5)	(c)	(7)	(8)	(9)	(O) to
UP July-08	17/08	· j.	125	,	125	5/-	625/,	11/26.7.08.	
UP Septoctós	6(11)08		100		20 18	51- 51-	100/-	29/22.X.69 7/7.7.09.	62
UP Sectos	18/3/09		100		13	71- 71-	50/-	7/7.7.09 29/22·x·09	77
	·		325		. 18tc				139

Dist Information & oblic Relations Offices
Dhenkanal

_( <u>A</u> )(	(i) — [	-(2)	-(-3:)-	-(4)-	(5)	-(6-)	(-1-)	(8)	(9)	(10) (P)
U	Jan-69	10/2/09	IEPR.	50	6	34	5/-	170/-	7/7.7.09	16
	up rune-jog	23/6/09		300 149		171 25 251	- >1- ->1- ->1-	855/- 125/- 1255/-	29 / 22. x. 09. 53 / 4.8.09. 6 / 7.7.09.	2
• • • • • • • • • • • • • • • • • • •	UP- Aug-109	28/8/09		49		48'	7-	240/-	29 / 22.1.69	1
. •	UP-Dee.	17/2/10	ž	49						49
. •		,								9_
				•				_	<u>-</u>	
•	UP 10 -	6/2/10		50.		529		-		50

1										(3) 1/8_
•	(1)	(2)	(3)	(4)	(5)	(6)	( <del>7</del> )	(8)	(9)	(10)
	Jaganneth Janana	२१ में ०६	ILPR.	100	-	<b>A</b>	51-			& clause
	T/	4/9/06	ą.	50		144: -	57-	720/-	15 / 17.11.06 23 / 24.06.08	
	Ŋ	4)7/08		100		100	51.	500/	11/28.7.08	
٠.	Ų	7/7/09		50		49	51-	245	29/ 22.x.09.	
				300		299				1.
	•		ं ग						1. chero 1/2	-

Olst Information &

6	74 1 1			,						1 129
-(J-) <b>-</b>	(1)	(2)	(3)	(4)	(5) (3	(-6)-	(7)	<del> -(-8-)</del>	(-9)	-(10)
	OR Annual-03	35/2/ó4		20		20	100/_	2,000/_	2/ 4.6.05.	7
	OR Annual 104	29/4/05		8		8	100/-	800/-	40/14.2.06.	
	OR Annual -05	25/06.		40		30	100/-	3,000/_	15/17.11.06.	10
,	OR Amuel-06	13/9/07.		20		7	100/-	7,00/-	24 / 24.6.08	13
	OR Annual - 06	16/1/08		17	•	3 2	100/-	3,00/- 200/-	10/ 26.7.08 7/ 7.7.09.	12
	OR Annieul'ob	19/6/07		5	1- Collector, 4-1/Cs.	Free Copy			· · · · · · · · · · · · · · · · · · ·	
				110		70		7-000		
							É	say =35	Dist Information A Sublic Relations Office Observance	
										· ·

# Despatched from 21PRO, 2011. to 92PR. 2010. Orissa, BBSR. on dt. 18/3/09.

month	No. of Ups	No. of ORs.	
Sept loct 103 -	39		
July 03 -	<b></b>	23	
April-04 -	34	_	
Feb-Mar.03 -	_	43	
Dec-of -	23	<b>-</b>	
Sept/oct.ob -	94	48	(3)
Dec-'06 -	74	49	
July-Ob -	•	12	
April-06 -	10	-	
Jan. 05 -	7	<del>-</del>	
May-06 -	e e e e e e e e e e e e e e e e e e e	40	
Feb/mar. 06 -	4		
Aport- 103 -	<del></del>	20	
May/Jane-03 -	-	25	
oct-04 -	. · · ·	7	
-	285	267	
G. Total - 28	5 + 3/7	- 550 Mai	hio Pating

G. Total - 285 + 267 = 552 copies Returned

Dist Information & 'ablic Relations Office Obenkana'